At B 1/1&
I = @B E I % % |

S TE BAEASHLE (t=5cm) 416m2 BEST BEHGHETE
TE5m |

| ERAMY X Al | EFHAMITE16%
EE |

RAE, FAER. AR HME
SRS REER, HEERE
B MR, 7 (R B I ER
FLk v AR EEER
B@E% 2 |

EF73-46 EF73-47

X

= N 1/500

\ B 304F (20184 ) 10H
RE | RES| Gt | FE | RES

BAE T R KiE B R 8K E e 2R
ENCEREN (B[ &

FER (AT 1/100 EEE R R—EME 1/50

45800 (AREFT) 2400
B-CH&Ff
~ P whEL=
8 < j
3 Ol o
: : m 8 Ei#%E r20cm
m] O o m] o o o ] ] m] o O o o o o o ] ] o o § ” / /E
3, —1 ;; % TAT+vk
TmEE(B-CHEAr) 1/100 ® & 7 i REBRESRRY—
15000 20000 (BHFR) 5w X 00
ABRRT 7 /
23]
| I | | | | |
TUF v AMSKBERE M-T400 Slo
JU—FY T-14 A [ - : : - - =
TLF v AMEKMERE P-T400 o o o ] o ] o o ] ] ] o = .
g ek sz tu N\ [N © e : ) TUF v AREKMEREZEER 1/10
0 = L] R KE GRARE) 8 6 150 L=26m — 600 300 ~FLFrAMEKBRTL—FLY
15800 (CHFF) Nt IR 150 Lt T A e g U R (H100)
BERHKE CRINE) MEx ¢ 150 L=15 , | T
: = = " , REE K GRIRS) § g_ L —TF L3 R MK B F SR Z 5] (H=150)
3z 3 {ets, =S 136 SE [S g T wkE i ]
BEUOKEMRIEER 1/10  SEEHRE 1/10 TATvEERER 1710 I ~a [ Bl oo
(=,
0 kisasHE =50  mkmasmE =50 S EASHE et g 58 |2 2 | KOS T v =Mk (H=300)
e =l Rc-40 =150 % RO-40 t=150 :ii?/ ):%Q A K | HHERE(42)
2 b e . ot o FAF b g M
: : ZANS—& =50 ZANE—F =50 \77(77)M~FH13L‘L7>1J— e == (o] B —+ #300
2 D _—HEMERBLS =300 g > ) 400 AT R MK B RIESRY Y (H=40)
= BEK—b $#300 = p e bt -
i )= i BEERSHLEHAR 1/10 2 W,
TERPKE GRRE) $150 _—ASEHL =50 Q(g D(‘X/RHO
& BRIEH =200 % b5 = 2




